


 
B1. Είτε αλλάζοντας την συνδεσμολογία του κφριου τυλίγματος είτε του βοηθητικοφ. 

Β2.  

 
Β3. 

 



 
Γ1. 

𝜂 =
𝑃

𝑃1
⇔ 0,9 =

9 𝑘𝑊 

𝑃1
⇒ 𝑃1 =

9 𝑘𝑊 

0,9
= 10𝑘𝑊 

Γ2. 

𝜀(%) =
𝑈0 − 𝑈𝑁

𝑈𝑁
100 ⇔ 5 =

𝑈0 − 200

200
100 ⇔ 0,05 =

𝑈0 − 200

200
⇒ 

 

0,05 ∗ 200 = 𝑈0 − 200 ⇒ 𝑈0 = 200 + 10 = 205𝑉 

 

Γ3. 

𝑃𝛼𝜋 = 𝑃1 − 𝑃 = 10 − 9 = 1𝑘𝑊 = 1000𝑊 

 

𝑃𝛼𝜋 = 𝑃𝛼𝜋 ,𝜍𝜏𝛼𝜃 + 𝑃𝛼𝜋 ,𝜇𝜀𝜏 ⇔ 1000 = 𝑃𝛼𝜋 ,𝜍𝜏𝛼𝜃 + 400 ⇒ 

 

𝑃𝛼𝜋 ,𝜍𝜏𝛼𝜃 = 1000 − 400 = 600𝑊 

 

 



Δ1. 

𝑃2 = 𝑈2𝐼2𝜍𝜐𝜈 𝜑 ⇔ 800 = 𝑈210 ∗ 0,8 ⇔ 800 = 8𝑈2 ⇒ 

 

𝑈2 =
800

8
= 100𝑉 

Δ2. 

𝐾 =
𝐼2

𝐼1
=

10

1
= 10 

 

𝐾 =
𝑊1

𝑊2
⇔ 10 =

1000

𝑊2
⇒ 𝑊2 =

1000

10
= 100 𝜍𝜋𝜀ί𝜌𝜀𝜎 

 

Δ3. 

𝐾 =
𝑈1

𝑈2
⇔ 10 =

𝑈1

100
⇒ 𝑈1 = 100 ∗ 10 = 1000𝑉 

 

Δ4. 

𝑃𝑆1 = 𝑈1𝐼1 = 1000 ∗ 1 = 1000𝑉𝐴 = 1𝑘𝑉𝐴 

 


